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2 H Finance 39 mins

H Finance Co is prepared to advance 80% of D Co's sales invoicing, provided its specialist collection
services are used by D Co. H Finance Co would charge an additional 0.5% of D Co's revenue for this
service. D Co would avoid administration costs it currently incurs amounting to $80,000 per annum.

“The history of D Co's accounts receivable ledgers may be summarised as follows:
20X8 2069 2070

Revenue (§/000) 78147 81941 98714
% accounts receivable at year end 17 20 2
% accounts receivable of 90+ days (of revenue) 15 2 25
Bad debts ($'000) 340 497 615

D Co estimates that the aggressive collection procedures adopted by the finance company are likely to
resultin lost revenue of some 10% of otherwise expected levels.

Currently, each $1 of revenue generates 18 cents additional profit before taxation. D Co turns its capital

over, on average, three times each year. On receipt by H Finance Co of amounts due from D Co’s

customers, a further 15% of the amounts are to be remitted to D Co. The cheapest alternative form of

finance would cost 20% per annum.

Required

(a)  Calculate whether the factoring of D Co's accounts receivable ledger would be worthwhile.

(b)  Explain how the factoring of sales invoicing may assist a firm's financial performance.
(Introductory question)

3 Victory 39 mins
Victory is a retailer, specialising in vitamin supplements and health foods claimed to enhance performance.
One of the products purchased by Victory for resale is a performance enhancing vitamin drink called ‘Buzz'.
Victory sells a fixed quantity of 200 bottles of Buzz per week. The estimated storage costs for a bottle of
Buzz are $2.00 per annum per bottle.

Delivery from Victory's existing supplier takes two weeks and the purchase price per bottle delivered is

$20. The current supplier charges a fixed $75 order processing charge for each order, regardiess of the

order size.

Victory has recently been approached by another supplier of Buzz with the following offer:

1 The costto Victory per bottle wil be $19 each.

2 There will be a fixed order processing charge of $250 regardiess of order size.

3 Delivery time will be one week.

4 Victory estimates that due to packaging differences, the storage cost per bottle will be $1.80 per
annum per bottle.

Note

‘The economic order quantity Q. which will minimise costs, is:

260
ch
Where C, = The cost of making one order

D = Annual demand
Ch = The holding cost per unit per annum

Q
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Required
(a)  Assuming Victory continues to purchase from the existing supplier, calculate:

() Economic order quantity
(i) Reorder level
(iiiy  Total cost of stocking Buzz for one year to the nearest §

(b) () Calculate the economic order quantity if Victory changes to the new supplier and determine
if it would be financially viable to change to this new supplier.

(i) Discuss TWO limitations of the above calculations and briefly describe THREE other non-
financial factors to be taken into account before a final decision is made.

(c)  Explain what is meant by a Just-in-Time (JIT) system and briefly describe FOUR of its main
features.

(Introductory question)

4IX 39 mins

2Xis a relatively small company in the agricultural industry. Itis highly mechanised and uses modern
techniques and equipment. In the past, it has operated a very conservative policy in respect of the
management of its working capital. Assume that you are a newly recruited management accountant. The
finance director, who is responsible for bot financial control and treasury functions, has asked you to
feview this policy.

‘You assemble the following information about the company's forecast end-of-year financial outcomes.
‘The company's year end is in six months’ time.

$'000
Receivables 2,500
Inventory 2,000
Cash at bank 500
Current assets 5,000
Non-current assets 1,250
Current liabilities 1,850
Forecast sales for the full year 8,000
Forecast operating profit (18% of sales) 1,440

‘You wish to evaluate the likely effect on the company if it introduced one or two alternative approaches to
‘working capital management. The finance director suggests you adjust the figures in accordance with the
following parameters.

‘Moderate' policy 'Aggressive’ policy

Receivables and inventory -20% -30%

Cash Reduce to $250,000  Reduce to $100,000

Non-current assets No change No change

Current liabilities +10% +20%

Forecast sales +2% +4%

Forecast profit No change in percentage profit/sales

Required

Write a report to the finance director that includes the following.

(2)  Anexplanation of a conservative and aggressive working capital policy. (5 marks)

(b)  Calculations of the return on net assets and the current ratio under each of three scenarios shown
below.

«  The company continues with its present policy.
«  The company adopts the ‘moderate’ policy.
«  The company adopts the ‘aggressive’ policy. (8 marks)
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